
Two rolls of tape are 35cm and 41cm long.   

What is their total length? 

What is the difference in their lengths? 
 

 

 

An egg weighs about 50 grams.   

Roughly how much do 6 eggs weigh? 
 

 

A big potato weighs about ¼kg on the scales.   

Roughly, what would be the weight on the scales 

of 10 big potatoes?   
 

 

 

A bottle of medicine holds 35 millilitres.   

A teaspoon holds 5 millilitres.   

How many teaspoons of medicine in the bottle? 
 

 

Mark got into the pool at 3:30pm.   

He swam for 40 minutes.   

What time did he get out?   
 

 

 

 

 

 



The cake went in the oven at 10:20.   

It came out at 10:45.   

How long was it in the oven?   
 

 

 

Lunch takes 50 minutes.   

It ends at 1:00pm.   

What time does it start?   
 


